Name: Class:

Max has 6 toy cars. Rosa has 5 toy cars. Kim has 4 toy cars. How
many toy cars do they have?

They have toy cars.

Here's how I know:



Grades 1-2

Name: Class:

Janice has 4 coins in her hand, 2 dimes and 2 nickels. Mary has 52¢
in her hand. Mary has more money in her hand than Janice
has in her hand.

Here's how I know:



Class:

Lucille was making fruit baskets. She could put 12 apples in each
basket, or she could use smaller baskets and put 10 apples in each
basket. Either way there would be no apples left over. Of the
following, Lucille could have apples.

a) 80 b) 60 c) 48 d) 40 e) 36

Explain your thinking:



Solutions

Grades 1-2.

22¢
2 dimes and 2 nickels is 30¢

52¢ - 30¢=22¢

Grades 3-b:

60

The only number divisible by both 12 and 10 is 60.



